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1.

2.

Which answer figure will complete the

pattern in the question figure?

(A)

(8

SR

(D)

Which one will replace the question

mark?

o/ 1973 3/ 7?7 \5 6/29\4

4 6 5

M2

(B) 31

(C) 41

(D) 51

18099\512023

1.

2.

B el 5 amply B ed B w@
HAM?

. ?
) | >
(B) &
©[°
o [ °
yeaTa® R &1 WIF BiF ome

5'1933/?\55A4
4 6 5 |

(A) 21

(B) 31

{C) 41

(D) 51
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3. The Sum of ages of 4 people A,B,C 3 4 feral A,B,C 7 D & 31 3 A 100 7§

and D is 100 years. What-would be the
€1 4 7 of 375 3y it A Fsarr g

totat of their ages 4 years back?

(A) 84
_ LAY BY
(B) 96 (B) 96
(©) 116 (C) 116
(D) 104 (D) 104
& zcg?zi.: 36 :f::zANK - 4. COME : 36 :: PRANK : ?
A 18 (A) 18
- (Brs0 ® 50
(C) 16 (©) 16
(D) 32 (D) 32
5. Scientist : Laboratory :: Actor : ? 5. e : wvTeEn = SRR : 0
(A) Casino ' | (A) BRE
(B) Gallery - (B) Frd
{(G) Stage | ©) B3
(D) Site g

https://www.ccsustudy.com



6. What would be the mimmor image of the g, yr& SCIENCE &7 adoT sffim Fan 2n?

word SCIENCE?
) IoM3Ie2

~8) 3IDN3ICS

(A) 3dM13Ioe

(B) 30MIICS

(C) ECNEIDS

[ ——— .

f‘x;‘ft] ECNEIDS

~ /D) SCIENDE (D) SCIENDE

<R - Kl

(A) (A)

(€) (C)

() D)

O
(0
=

:

[of [0 1B [©
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10.

11.

Read the following comprehension and
answer the question 10 to 14,

A, B, C, D&E are friends and they
have different Cars-Zen, Opal A;tra,
Cent;réa, Indica & Maruti gyﬁsy. Colours
of these cars are-blue, white, black,

red & green, but not necessarily in the

same order.
(i) A has a gypsy, put it is not green.
(i) B has red Indica
(iii) C has blue car, but not zen
(iv) E has black car, which is neither
Opal Astra nor centro?
Who has Opal Astra?
(A) E
(B) C
(C) F
(D) Can not be determined
What is the colour of Gypsy?
(A) Green
(B) Red
hgg).-ﬁlue

(D) White

18099\5\2023

(71

10.

11,

PrefiRas sum ¥ MUR W . W& 10 |
14 a6 & IR

A, B, C, D @ E uig 7 3R 370w
AR Al el 3 el & W & e,
Qe FIdl, T AR & Al s T8 2
= w2

(i) AP o &, afe a8 &8 781 &1
(i) B® U & i 2l

" (iii) € % e e BR 2, 35w 39 @0

(iv) Eﬂamﬂmﬁ‘rm%.mqa‘fsﬁuﬁ.
TR IR T A Fy?

e veey s ar &2

(A) E

(B) C

(C) F

(D) ®% el way
ot o <o b &2
(A) &
(B) @@
(C) e
(D) W%

https:ﬁwww.ccéustudy.com



12. Which car does E have? 12. E & 0 -0 IR &7

(A) Astra

(A) I

(B) Cepiro (8) ¥

(C) Gypsy (€) Frh
_ _(ByZen (D) 3
13. Whatis the cotour of Indica? 13. 3w & o b 2

(A) White (A) W
) (B) Red (B) ot

(C) Green (C) &

(D) Black (D) @i
14. Which car does A have? 14. A S TR BH-9 R &2
_ (A Gypsy () fot

(B) Zen (B) 3

(C) Indica (C) 3Mem

(D) Centro (D)
3099\S12023 (8]
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(A) 21

P

(B) 25
(C) 45
(D) 50

15 19 49 13 36

-1 1T

(A) 10

<62
(© 4
(D) 124

17. In a coded language 'pit nae tom’ is

written as "Apple is green', 'nae far ho'
as 'green and white' and 'hﬁ tom ka' is
written as 'shirt is white'. What is the
code for ‘Apple'?
(A) ho
(B) ke

LG} pit

(D) tom
180991512023

16. .

17.

(B) 25
(C) 45
(D) 50

15 19 49 13 36 26

34 62 ?

(A) 10

(B) 62

(C) 4

(D) 124

fdl |l e § “pit nae tom' @1 30
‘Apple is green', 'nae for ho' &
‘green and white' 3R 'ho tom ka' @
3% 'shirt is white' 81 o 3& e § ‘Apple"
Bl Gl DS &7 &2

(A) ho

(B) ka

(C) pit

(D) tom

https://www.ccsustudy.com



18. 1If cost of 15 books |s 175, then find out
the cost of 30 books.

—TR) 150
(B) 300
(C) 100
(D) 50

19, Ii;l an  examination, 78% of the
total students who appeared were
successful. If the total number of
failures was 176 then what would be
the total number of students?
(A} 500
(B) 600
(Cy 700

~£D7 800

180991512023 | [10]

18.

19,

aft 15 fesamal & dma 75¢ & 2 30 fsamg
B P I |

(A) 150

(B) 300 °

(C) 100

(D) 50

T W &N a0 ot frnRiat ¥ X 78%
Wﬁﬁﬁﬁiﬂf&ﬂmﬁm‘f@fﬁaﬁ@ﬁﬁ
ﬁmwlﬁaﬁﬁaﬁﬂwﬁ?ﬁ?

(A) 500

(8) 600

(C) 700

(D) 800
]
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20. Deepa stays on the 16" floor fromthe 20, %7 28 Hider # gARa & A1 & 16 & 25

bottom of a 28 floor building. What is w T &1 I ¥ e A o Rafh @
the position of her floor from the top? 2
T 13 ) 13
(B) 14 (B) 14
(€) 15 (C) 15
(D) 16 (D} 18

21. If "LINGER' is '123456' and FORCE is 21, #f¥ 'LINGER' Bl '123456° A G201 'FORCE'

'56789" then 'FIERCE' will be ® '56769" X TWRN Fww & & FIERCE'
20
(A) 345667
(A) 345667
(B) 456678
(B) 458678
345677
AGI-34567 (C) 345677
{D) Can not be determined (D) fefRa 38 & g
18095\512023 [11]
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22. The bar graph given shows the foreign

exchange reserves of a country (in
million $) from 1991-92 to 1998-99,

Answer the questions number 22 to 26

based on this graph.

Foreign Exchange Reserve of A Country

(in million us$)

4320

3720
3360

3120 120

2540
2520

1991-92

1952-93
1933-94
1594-95
1995-96

1996-97

1957-98
1995-99

The foreign exchange r%efve in 1997-
98 was hc;w many times that in 1994-
95

(AY 0.7

(B) 1.2

(C) _1.4

(D) 1.5

[1zi

22, o T aR-Tw 1991-92 ¥ 1998-99

el 2w it foelt g e (fofora e 3
B el &1 39 I & YR R 9 Sy
02 | 26 &I K 2|

Foreign Exchange Reserve of A Country

{(in million US$)
5040
4320
3720 .
3360
3120 3120
2640
2520
& T & o & & & &
~ ™~ ™ o iy w [ o9
=] o =1 =1 (=] o = o
z -+ o 3 Z o o

1997-98 ¥ fadsht Har-WeR 1994-95 &
wé%ﬁ#@m?

(A) 0.7

(B) 1.2

(©) 1.4

(D) 1.5
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23. What was the percentage increase of 23 Rpd af &Y qo A fareft gy R A Tpat

foreign exchange reserves over the

yferere 2t gfe WA it 22
previous year, Is the highest?

(A) 100

(A) 100
) 150

‘LB)_) 15L
(C) 200

(C) 200
(D) 620 (D) 60

4. Forwhich year, the percentage increase

24, fioe o of geen | foow af & fRe vl

of foreign exchange reserves over the

3 wfirem 9f wed ot
previous year, is the highest?
(A) 1992-93
(A) 1992-93
(B) 1993-34
(B) 1993-94
(C) 1994-95 . : (C) 1994-95
(D) 1995-96
(D) 1995-96
18099\5\2023

[13]
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25. The foreign exchange reserves In

.26:

180991812023

1936-97 were approximately what
percentage of the average foreign

exchahge reserves over the period

under review?

(A) 95%

(B) 110% .-

(C) 115%

(D) 125%

The ratio of the number of ye_ars,lin
which the foreign exchange reserves
are above the average reserves, to
those in which the reserves are below
the average reserves, is:-

(A) 2:6

(B) 3:4

(C) 3:5

(D) 4:4

25.

26.

[14]

1996-97 ¥ feft e vizR wehtand 3k,
st fardah qer sigR @ e fse Wiy
o

(A) 95%

(B) 110%

(€) 115%
(D) 125%
3 @6l & de & AW, o e g

¥BR Fa 2R & I 8, 3R 37 ot I dwn

ot ket g R st eR A AR R, &

3 & .
(A) 2:6
(B) 3:4
(€) 3:5

(D) "4:4

https:/iwww.ccsustudy.com



27. Study the following Information to

answer the question number 27 to 31.

Total number  of  passengers

travelling from Patna Junc-

tion to different districts=12000

The number of passengers travelling
from Patna to Buxar is what percent
more than the number of passengers
travelling to Jehanabad?
(A) 20%

yS%
{(C) 33.33%

(D) 66.67%

18099\8\2023

[13]

27, Reafes FFER! § 3R W 98 FE

07 q 31 dF F TR oA |

T 3. @ ffie e & 3R g & T

-@aﬁﬁaﬁm =12000

T ¥ R 96 A/ & I B 9@
FEFTERE 96 A B ql JEGT B G

¥ foaw wftea aftre &2
(A) 20%
(B) 25%

(C) 33.33%

(D) 66.67%

https://www.ccsustudy.com



28. The number of passengers travelling

29.

180991512023

from Patna to Gaya Is what percent of
the passengers travelling from Patna

te Darbhanga and Ara together?

(A} None
() 13339
(C) 75%
(D) 33%

What is the average number of

passengers travelling from Patna to

Saharsa, Katihar and Buxar tpgether?
(A) 2140
(B) 2220
(C) 2020

(D) 2120

[16]

28,

29.

T ¥ T TF T B 9 AT
TR, TS ¥ UM 3R IRT 9 AT e
et anfadt ot o o & e sl &
(A) BT

(8) 13319

(C) 75%

(D) 33%

AT | WERA], BeER R FR @ A
aﬂ#mﬁuﬁmﬁraﬁﬂamﬁmﬁ‘l%?
(A) 2140

(8) 2220

(C) 2020

(D) 2120

https://www.ccsustudy.com



30. What will be the central angle

31

for

PASSENgers travelling from Patna to

Buxar if it is put in the form of a ple-

chart?

(A) 57.60

(B) 67.6°

{C) 45°

(D) 75.60

Among the passengers whg are
travelling form Patna to Katihar, 42%
are female adults and 38% are male
adults, What is the number of children?
(Transgénders aré not to be Considered)
(A) 268

(B) 278

(C) 288

{D) Nane of these

180991812023

30.

31.

(17]

ot wrf-ar & qfeaer % wwwn @ A A
A TR T arn A @ gt & foe
SHar-IoT Tar E?

(A) 57.6°

(B) 67.6°

(C) 450

(D) 75.60

T ¥ HICER O AT B art uﬁ?ﬂ q
42% Wi aavs AR 38% IFY oS 3§
Tl B Fe e 20 (gt = far
TR &)

(A) 268

(B) 278

(C) 288

(D) IR A ¥ A A

https://www.ccsustudy.com



32. Emotional intelligence is characterized 32, eI gﬁﬂa?f farder &
by:- (A) HARIN WA ¥ a8
(A) Proficient in problem solving

(B) AN RS da4g
.. (B) Better interpearsonal relationship .
‘ C) T T e
(C) High abstract thinking ability . © 3‘@
(D} Goad sense of humour - (D) e THT
33. What is Emotional intelligence? 33. WETED g&mﬁ o B?
A. ‘Th- 113 H 1 . . . . .
- (A) e ability to monitor ane's own (A) 3-]‘3!:'[’[ W@fffﬁ ﬁﬁ?ﬁﬂ&ﬂ?ﬁ'ﬂi
and other's feelings and one's
thinking and actions. '
(B) The ability to not get angry when (B) B S R T T 3 B
provoked (C) 3= anl B we  wer B
(C) Being able to ‘-reacli other peuplrl-: (D) l‘gﬁff ¥ 7 | @ER 3R IR af{
(D) Being persistent and enthusiastic
. Bl
when others are flagging |
34. A+B Means, A is sister of B 34. MBH IS ATERB BN,
A-B means, 'A is the daughter of B A-BaHTaf e AdST 2 B,
AxB means, A is brother of B AXB & T8, A WS & B 3,
A+B means, A is the motherof B - A*B T8, AT E B &,
If D+P+IxK+T-R, then how R is relat- ofd D+P:IxK+T-R &, a@ R #R
ed to P? FEEA E P A7
«{A) -Brother (A) wig
(B) Daughter's Son (B} & & d
(C) Son _ - (C) ==
(D) Daughter's husband Ny 98 & uig
180991512023
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directions [Q.No.35-—333. In each

e (.41 35-38 9]
question given below, two arguments

AR R T e e @ o R T €,

are given, fumbered I ang I1. You have

o2 1 3R 11 wwie o mon &1 s ag

to decide which of these arguments is

" n ad &A1 % ﬁs | %- a:n:['m a$ “HEaA” aé;
a 'strong" argument and which is a gzrﬁ

"weak" one, - 2 3R ®fR-ar e
Should we provide sex education in 35, @& wel # dt= frenm & wfed?
schools?

o
Logic:-

I- €, Fffaa & i feeller 2w b a<ad

I Yes, certainly all progressive

countries do this. gl

I.  No, not at least in Co-Educational | v
- 1I- 7€, ®-4-aH wafen I e i =8|

institutions,
o (A) Tad ab IyEa & -
- (A)~Only logic I is strong

(B) Only logic 11 is strong (B) aﬁa a® 11 waor &

(C) NeitherlogicInorlogicllis strong

. (C) I s I3tk 1S a 11 vaw &
(D) Both the logic I and legic II are

strong

(D) b 13K 11, A vae &

18099\$\2023 [19]
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36. Should all government-owned educa-

37.

180991512023

tional institutions be handed over to
Private institutions?
Logic:-

I-  Yes, the educational level of these

institutions will improve.
II-  No, the standard of education in
these institutions will fal|.
(A) Only logic I is strong
(B) Only logic II is strong
(C) Neither logicl nor logic 11 is strong
(D} Both the logics are strong
Should the government stop spending
huge money on iﬁternational sports?
Logic:-
I-  Yes, this money can be uéed for
the upliftment of the poor.
II- = No, players will get frustrated

and they will not get international

exposure,
(A) Only logic I is strong
(B) Only logic II is strong
(C) Neitherlogic I norlogicI1is strong

(D) Both the logics are strong

[20]

36.

37.

F Ty W@ waiiie arelt e wvensy
1 Pt wverE! @ di fear JE iy
-

I- g1, 39 S & Ram &R A guR 8|
11- 781, 37 ey § fram &1 wx R
(A) ¥ae ad [ vaer &

(B) %ad o 11 vael &

(C) Farad 1R 71 & b 11 vaer &
(D) &b 13K 11 2 waet &

T TRER B ARG Tl R HR &

WY g o 3T TME?

T

I-ﬁ.sﬂmasrzqu\nnﬂa‘iésmﬁ%m
S EHT 2|

I1- e, Raenst 59t pivea &1 st ok 3=
FRIGH v J& fi)

(A) e ad [ Vel &

(B) éﬁﬁﬁéﬂlﬂ'ﬁiﬁ?-

(C) %ﬁraﬁatsﬂ?mé’raﬁnmﬁ%

(D) & 1 3R & 11 i mae &

https://www.ccsustudy.com



RUIGH
43. Should the government aiso Impose 38, 7a W@R @ PR I R i 2o

tax on agricultural Income?

Logic:-

1:- Yes,thisistheonly way toincrease
the government treasury

I3:- No, 80% of our.penple live in rural
areas

(A) Only logic I is strong

{B) Only lcgic 11 is strong

(C) NeitherlogicInor iogic Il is strong

_.__,{,D.} Both the logics are strong
39, What will come at the place of? 39

37,31,26,22,19,17, 7

{A) 13

(B) 14

(C) 15

SAPrTE

180991512023 [21]

|

-

L ﬁrwﬁmﬁﬁaﬁmﬁﬁ*fﬁfﬂﬁ

o @ 2

11-='rzi’i.'s'trr<"rBG%31*1?“‘“""‘“‘“*}ﬁ""ﬂ“wf"r
2|

(A) aﬁaaésmaﬁ%

(Bj ¥act o 11 vaeT &

(C) ad a1 FRA D b I vEe &

(D) & I 3R @ 11 &1 y=at &

. m—%%aswuzamm?

37,31,26,22,19,17,__ ?

(A) 13

(8) 14

(C) 15

(D) 16

https://www.ccsustudy.com



40. ‘
What will come at the place of? 40, W e & T O T FRA?

1,4, 27,16, 7, 36, 343 1, 4, 27, 16, 7, 36, 343
(A) 25 (A) 25
(8) 87 (B) 87

—AC)125 (C) 125
(D) 30 o (D) 30 |

- 41. What will Come at the place of » ;41. 7o ferg o T R smm?

AZ, CX, FU, 2 AZ, CX, IFU, ?
(A) 1R '
o

~ErIQ (@ 1Q
(D) KP (D) KP

42. What will come at the place of? 42. 9 g & W = &0 e

L] RO

(A) <_‘J) (A) T

ol @ [

(C) L (©) L

(D) F (D) E
1509915\24).23 : [22) I |

hitps://www.ccsustudy.com



7

4
|

43. What will come at the place of "?"

(A)
P
(C)

(D}

i

i

L

7

|

p————

]

=
||
|

44. What will come at the place of "?"

" BFH, EIL, HNP, ?

(A)

- (B)

JQs

LSU

_,-IC) ~KRT

(D)

KRS

45. What will come at place of (2} ?

LKMRT?

(A)

(B)

X

W

..._4{‘67

(D} None of these

180991812023

]

43, v R 3 s W a1 FEAP

|

L

i

wil
oL
ol
ol

1

44, nﬁq-ﬁ:——a'aswﬂu?amawrr?

BFH, EJL, HNP, ?

(A) 1QS

(B) LSU

(C} KRT

(D) KRS

45. w=-foeg & WA W &r e

[23]

JLK,MPT,?

(A) X

(B) W

[IC] Y

(D) FR AR T

-https:waw.ccsustudy.com



46. Pointing towards a girl, vinay sald, "She 46, v med B AR W o 6 R A 3y

is the daughter of my grandfather's g8 A HUEER B g G a?r_g?r &

only child". How is that girl related to

Vinay? Hﬂgﬁaﬂﬁmﬁﬂmg?
(A) Daughter ® @
__{BY Sister (B) &
(C} Niece | | (C) A=
(D) None of these ‘ (D) TR

47. Pointing at a photo, Dinesh said, "His 47. UF Bl a?r AR FRT IR g, e 7

father is only son of my mother. The

"3 fifar A Wi & gl qA Bl
photo belongs to:- _
(A) fwr
(A) Dinesh |
(B) Dinesh’s brother (8) e &1 i
(C) Dinesh's father (C) T e &
- (D) ‘Dinesh’s son (D) & o1 &

48. Rajiv is the brother of Arun, Sonia s 48. TG 3T T W B -\qﬁﬁm'\gﬁ}aa%agq

the sister of Sunil. Arur is the Son 3 Wﬁﬁﬁﬂﬂa%l e 1 e 4
of Sonia, How is the Rajiv related to

oI e &?
Sunil?

(A) s
. (A) Nephew
(B) Son (B) @z
(C) Brother N - - © ﬂlﬁ_
(D) Father ' | (D) foar

180991512023 [24]

hitps://www.ccsustudy.com



4.9. Which of the following diagram ind- 49, Prtfefaa & & al9-w s wiestl, 3,

cates the best relationshi qgd
P between 1§
By gafar &2
Vegetables, Potatg and Cabbage, e Nt

C @ “

| o
© ()R © (8
(D) None of these (D) = 4 3 58

0. Which of the following giagram  50. Frafefed & @ P-w FRa fa, g,

indicates the best relation between it & de waw Iy e B a9 22

Anxiety, Intelligence, Strength?
® (9
{A) -

Ye:
Ye:
(D) None of these | - (D) 3 % oK T

1. Which of the following diagram 51 ﬁﬂ%ﬁﬁﬁ%ﬁﬂ?—'ﬂﬂﬁ@ﬂﬁ airer 3R
" indicates the best relation between

TR & &7 T 3728 wdu &) i &

| Metal, Iron and Chlorine?
%) -
(A)
. o @ ) e @o
(©) - - ©

18099\5\2023 [25]
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52,

53.

54,

From the given alternative words,
select the ward which can pe farmed
using the letters of the given word:-
"TREASURE"

(A) Street

48y Rest

(C) Share

(D) Rent

From the _giverll'alternatives, seléct the.

word which cannot be formed using

the letters of the given word:-

"Compatible"
(A) Come

(B) PAT

(C)} Time

{D)-Maost

Arrangle the given words in the
sequence in which they occur in the
dictionary:- ‘
1. Incomplete

2. Incorrect

3. Include

4. Increment

5. -Income

(A) 51243

(B) 12453

(C) 34125

(D)~ 35124
. 180991812023

[26]

52.

53.

54.

Ay T s TE ¥, T TE B ey

Sy B By ™ T® & Fest B
= & 3 v gl
"TREASURE"
(A) Street
(B) Rest
(C) Share
(D) Rent
Prefiio R & ¥ 7 @ e,
R T v & el @ FE B Tl &
3T W B
"Compatible"
(A) Come
(B) PAT
(C) Time
(D) Most
frfefaa oal o TePw 9 & FTER
i Sl

1. Incomplete
2. Incofrect
3. Include
4. Increment
5. . Income
(A) 51243

(B) 12453
(C) 34125

(D) 35124

https:waw.ccsustudy.com



55. Which group jg Correct for the glven

word “FARM">

MATRIX 1
1 T

EICIREIEIS
[ﬂ]Z}m]O!m[w

0
F
S
0
R
M

lalw n]=]o
NinlZ o0

(A) 00, 98, 23, 34

(B) 12, 67, 04, g5

(©) A3)67,11;33.

(D) 24, 67, 11, 41

56. Which group is

55. fie v Y& FARM 3 Re w9g aar 1

MATRIX 1 MATRIX II
ATRIX 11 e e
BOEGE o|FlOo[M|s|r||5|A|T|DfI|P
.E:h._l____E_I__E_ 1/S[RIF|IO[M|[6]IIP|A|T|D]
~—I—-J-E_AT 2| O|M[S|R[F||7|TID|I|P|A
?FT?E 3|R[F|O|M|s||s|P{A|T|[D]|E
PlAITID[ RS AT
CRENE

(A) 00, 98, 23, 34
(B) 12, 67,04, 85
(C) 43,67, 11,33

(D) 24,67,11, 41

correct for. the given 56. fedl ™ o= FISH & fore ‘HH\EE qaRe?

word "FISH"? MATRIX I MATRIX I
| ol1]2

:AIRIXI MATRIX II UMLFi: 5?2?89

21374 5/6]7]8]9 o

1[H|B 5 |

OMLFHBSIKSUN 2LF:;;§UNI.Ki

LIHiBIMIL|E|l6]ulnlT[K][S 3B ML IF L

2|LIF|HIBIM||7|k[s|ulNT] 4|FiH| B CIFerstoras Y

STe TRt o T M MILI|9s|ul [Tk
4/FiH{B|M{L||9]s]ulN[T]K (A) 22,81, 14, g9

{AY 22, 81, 14, 69

) 33, 88, 67, 22

L

X o~ ety
-~ (8) (0267, 34, 88
180991512023

(B) 33, 86, 88, 41
{C) 33, 88, 67, 22
(D) 02,67, 34, 88

[27] PT.0.
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57. What is the minimum number of ducks
that can swim in the following types of
groups that two ducks before a duck,

two ducks after a duck and one duck

between two ducks?
(A) 11
{B) 9
) 7
(D)3
58. 10 cloths are drv{ in the sunlight in 10
hours, then how long will one cloth dry
up?
{A) 1 hour
.. (B)710 Hours
(C) S hours
(D) 20 hours
59. In a certain code "APPROACH" is cod-
ed as "CHOAPRAP". Then, now will
"RESTRICT" be coded?
(A) CTRISTER
(B) ERTSIRTC
{C) CTRISTRE

(D) TCIRSTRE

180991512023

[28]

57.

58.

59.

Wﬁ@ﬁﬁwaﬂ%aﬁﬁﬂm
ﬁﬂqgﬁﬁqﬂaﬁ?%a’faﬁﬁﬁﬂimﬁs
i 2 o O A & 8 IR 0B T
3 gl & & A?

(ﬁ;} 11

(B) 9

€ 7

(D) 3
masq%_qqﬁmuﬂ%ﬁg@ﬁ%.ﬁ‘mﬁm
feet &R i gam?

(A) 190 H

(B} 10HWC H

(C) 5uve &

(D) 2090 &

g m‘r’r Hitsfeis wmT § "APPROACH" &t

"CHOAPRAP"forar o 2, of 39t wier #

"RESTRICT" &' &9 Wb forar sm?

"4) CTRISTER

3) ERTSIRTC

(C) CTRISTRE

(D) TCIRSTRE

https://www.ccsustudy.com




60. In a certain Code Ianguage

61.

b2.

"CHILD" is

written as “IMogQgn. How will "BARE®

(C) FFG)

(D) HFG)

1f B=4 and BAT:=46, then -]:sz,)

(A) 88

(B)~"84

(C) 90. -

(D) 44

If 'mik’ is called 'butter', 'butter' is
called 'pen’, 'pen’ is called ‘ink', 'ink'
is called 'soap' and 'soap' is -called
'paper’, theﬁ_ which of the following is
used for write?

(A} Pen

By Ink

(C) Soap

(D) Paper

18095\812023

60. ot f5d wishis s i "CHILD" &1 "IMO-

61.

62,

(29

Q)" forean Fam &, at 3 e H "BABE" @l
fasw o foran STRT? |

(A) HFH]

(B) FGFK

(C) FFGJ

(D) HFGJ

af& B=4 3R BAT=46, d TAX=?

(A) 88

- (B) 84

(C) 90

(D) 44

afe 3o @ HEE, HaE B HAH, B
TS el SN & o FeefeiRaa § @ feaan |
Jugn fera & ferd Topan sma &2
(A) ®m

®) wmd

(C) w3

(D) oW

https://www.ccsustudy.com '



63. Arrange the words given below In a

meaningful sequence.

1. Key

2. Door

3. lock

4.I Room

5. Switch on

(A) 5,1,2,4,3
(B) 4,2,1,53"°
<€) 133,24,5

(D) 1,2,3,54

64. Arrange the words given below in a

meaningful sequence.

1. Word
2. Paragraph
3. Sentence
4, - -Letters _
5. Phrase
,- {A) 4,1,5,2,3
(B} 4,1,3,5,2

{(C) 4,2,51,3

DY 4,1,5,3,2

180991512023

[30]

63.

64.

Frahed aR|

1. Key (0
5. Door (&XaT3)
3. Lock (@Te)

4. Room (®FT)
5. Raa s &R
(A) 5,1,2,4,3
(‘B} 4,2,1,5,3
(C) 1;3,2,4,5
(D) 1,2,3,54
o o T v o o o
Farerd B

1. Word

2. Paragraph
3. Sentence
4. Letters

5. Phrase

(A) 4,1,5,2,3

(B) 4,1,3,52

- (C) 4,2,5,1,3

(D) 4,1,53,2

https://www.ccsustudy.com



5. Given below are four Propositions, two
of them are re|ateq I such a way that

they cannot he true, although they can

be false. Select the code that states

those two Propositions,
A.  All men are Honesr
B. I\_ln_rnen are honest
C. Some men are honest
D. Some men are not honest
Choose: the correct answer from the
options given below:- |
(A) Aand B only
(B) BandC only
(C) C andlD only
. (DY~#"and D only
66. If the day before Yesterday was Fridél‘:r.
what will be the third day after the day
after tomorrow?
(A) Fridayl
(B) Saturday

- (C) Thursday

- {D).ANednesday

180991512023

(31]

65.

66.

S w7 e fd T | O W A E
it # R & wa 7 @ W &, s 3
@A T § AR T wH X AT D
weaTal 3 SawT 2l

A Wl g AR €

B. aﬁéﬁﬁwmqﬁgl

C. B o $AER 8 8

D. @quﬁgl

A oy T oot & 9 R TR -
(A} A and B only

(B) Band C only

(C) Cand D only

(D) Aand D only
maﬁ%ﬂ%@fﬁ&qwm’am
Gz |

(A) TR

(B) oif@R

©

(D) R

_ https://www.ccsustudy.com



©7. Ram walks from his university campus

(C) South
(D) West

68. A man. walking towards north after 68.
walking 100m turns right and walks
75m. Again h-e turns right and walk
100m and last movement he turns left
and walks 25m. N_oﬁ.' in which dTre:;tion
he is walking?

. {A) East

By West
(C) North
(D} South

180991812023 [32]

4 km towards the north and then turns
to the right to reach his department.
After walking 2.5 km from the

department he turns to the left and

walks 4 km and reached conference

hall. Now in which direction is he fro[n

the starting place?

(A} South-west

«{B) North-East

67,

3R e & 9l i o fnT o vge

e ¥ @@ a8 @ R e @ 3R 4 T

Row faam # 22

(A) afeor-afsem

(B) SH

(C) afEo

(D) uf¥em

% @R 3R B IR 100 Wex 901 & T
v Tgar & 3R 75 fex waen & iR A 3.
e et @ 31K 100 Ak Ter # ik 3

9% 1 e & 3R 25 Hex Torar &) 39 9
oo fem & aw <m0

(A) wd

(C) W

(D) &faor

https://www.ccsustudy.com



V

§9. The number of Subsets of A

70.

/1. Power

-

={0,1,2}
will be

(A) 3

2. Everysetisa subset of itself.

Which of the above statements are
correct? https:ffwww.ccsustudy.com
(A) Only 1

(B) Only 2

(C) 1 & 2 both
(D) None of these
set of set

empty has

exactly subset,
{A} One
(B) Two
(C) Zero

(D) Three

18000\812023

69.

70.

71.

[33]

A = {0,1,2} ¥ JoageEdl & HEAL ..o
Ll
(A) 3.

(B) 6

(C) 8

oy s

Frsforan et o fre BT

1. R oqeag yods 99wy o e
dar 2|

2. P WHE WY & IwEd |l
gl

IR BI F A PIA-Y TA e 27

(A) a1 |

(B) ohaet 2

(C) 13k 2am

(D) 5™ 3 o

e B B
(A) ™

(B) &

(€} =

(D) d=

https://www.ccsustudy.com



72. Select the related number from the

73.

given alternatives,
2.25:13/4::3.75 - 2
(A) 17/4

(By 19/4

(C) 15/4

D) 1174 1

Select the related number from the
given alternatives
7:36::9:7

(A) 12

(B) 15

) 8

D) 21

74. Select the number which is different

from the ofhers.
o 2v8
(B) 28-42
(C) 42-12

(D) 84-24

180981512023

72.

73,

74,

R 1 R § & T 'H@T & T
Hife?

2.25:13/4::3.75:?
(A) 17/4

(B) 19/4

(C) 15/4

(D) 11/4

2 e et § ¥ weafua dE & I
A

7:36::9.7

(A) 12

(B) 15

(C) 8

(D) 2

I 3G T T BifC 3 37 A B A
(A) 21-6
(B) 28-42
(C) 42-12

(D) 84-24

https://www.ccsustudy.com



select the ny )
75 Mber which e different  Jo < 35 @1 Taa AE 3 I A fE 2
from the dtherg ‘

n 1546 (A) 15-48
®) 12-37 (B) 12-37
©) 9-28 | (C) 9-28

D) 8-33 (D) 8-33

76. Select

the ny L
mber which is different  76. 3% 3ic & ggq Hisw o 30 F R A

from others,

(A) 63

(1) 763
(B) 126 (B) 126
- (0) 215 (©) 215
(D) 342 (D) 342

77. On 5% Dec. 2019 Saturday falls, what  77. 5 RowR 2019 & oviER & @1, 5 S

day of week was it on 5* Dec. 2015? 2015 B T 1 -1 &= or?
(A) Saturday (A ofER
(B) Sunday (B) @R
~—£2"Monday L, «dmERr |
(D) Wednesday ' (D) gHaR
180391812023 ' | (35] |
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78. Today Is Monday, After 61 days, it will 78, 3R s War &1 @) 61 K9 & a1 &y

be:- &

(A) Wednesday (A) §UAR
.- (By~Saturday (B) 9if+@aR

(C) Tuesday (C) HIEER

(D) Thursday ‘ (D) WL

79. What is the angle between both the 79. 7:30 ¥3 21 wgdl & & DT FAFA?

hands at 7:30?

(A) 450
< (A)y 450

® ' (B) 500
500

©) 750 (C) 750

(D) 600 (D) 600

80. What will be the value of an angle in 0. gg’[aﬁﬁqgaau-gaﬁﬂgasaa 1fire 8

the 1 minute between the minute and

& Tt DT BT T+ fopa=T 2rmr?
the hourly needle of the clock?

(A) 7°
(A) 7°

(B) 6°
{B:'. 60

(C) 5.50

_{C)y 5.50

D) 110

(D) 1190 | ©)
180991512023 [36]
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81
cubes of 1 em each, How many smailer
cubes are Obtained?
(A) 106
_ {B}-216
(C) 326
(D) None of these
82. Conclusions:-
| 82.
J_Y' Sﬁme Pencils are erasers.
2.~ All erasers being pencils is a pos-
sibility.
(A) Only conclusion 1 follows
(B) Only conclusion 2 follows
{C) Neither 1 nor 2 follows
__{D)--Both conclusion 1 and 2 follows
18099\8\2023 | _ 137

. T 8 W TE g B IR 1 Al & Ble

Tgen & we ar s & R B wgs
et o &P

(A) 106

(B) 216

(C) 326

(D). &7 3 35 7

Fre:

1. @gﬁﬂﬁs%ﬂ

2. .ﬂﬁméfﬁiﬁ*ﬁﬁgﬁﬁaa
(A) Fab e 1 o) 2

(B) fab Forepd 2 gy

(C) qﬁrﬁﬁﬁwﬁ?ﬂé’rﬁ;ﬁzaﬁg

(D) M freed 1 ailk 2 7@ &

< https:waw.cm_:sustudy.com ‘




83. Below are given statements followed g3, #= oo & a8 g 1 @9 2 f&e &

by two conclusions 1 and 2. You have

e e e duE @ e A v
to take the given statements to be true .
¢ T o i 3 B i @ R
even if they séems to be at variance
: |at fafear ot @t €
from commonly known facrs P ¥
‘Statement:  All birds are tall. Some Ax AR 8 Fl
. tall are peacocks.
e -1, ?@%%HT AR §|
Cenclusions: 1. Some birds are pea- | '
cocks | N 2. $B UR @ &l
__2..Some peacocks are ﬁﬁqm%ﬁqﬁ%ﬂqﬁﬁﬁqﬁg
tall. | '
| I BT HTHR0 TS &
Decide which of the following options
locally follows the given statement. (A) R Frepdf 1 IRV el &

(A) HOnIy'cnnclusiUn 1 follows

(B) T Fred 2 arpemor e &

(B) - Only conclusion 2 follows
| (C) & ¥ 1 v 7 & P 2 31eon

(C) -Neither conclusion 1 nore 2

. &R &
follows
(D) Both conclusion 1 and 2 follows (D) i fresd 1 9 2 FFRRoT AR &
180991512023 ' [38]
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- 4. 'AxG' means ‘A’ is maternal

e

85.

g

80991812023

Read the following data carefully and

answer the questigng based on it,

1. A+G' means ‘o' Is the mother of |

IGT
A+G' means ‘A' daughter of 'G*
'A-G' means 'A' is husband of '’

aunt

of 'G’
If |I_+M‘-cN then how IS L related to N
(A) Aunt

(B} Mother

{C) Daughter

(D). -Maternal Daughter

If A@B means A is f:;\ther of -B, AzB
means A is brother of B and AIB means
Als g-randson of B, then what does

P@Q+=R!IS means

(A)-P is son of S

(B) Pis father of S
(C) Pis grandson of S

(D) Pisuncleof S

[39]

84,

& ™ FEE B EwEEe FWEE X
Frefrfee vl & v 2l

1. 'A+G' ® i & A, G B e @

2. A+G@HINEA GHTHE

3. 'A-G'éarsxef%=A,¢asruﬁr%|

4, axG T adE A GHIAD
gk L+MxN &, dF L, N ¥ S wwafua ¢
(A) o

(B) Wl

(C)

—ADY Y

85. Uk A@B T & 5 A, B R 2 AcB

oI 25 A, B 3T wé & 3k AIB @7 39

efF A B d & P@Q#R!S & 3ef
1 8?

BB SsTe

(B) P swHrftmrsd

“(C} P, S & gy

(D) P, SHrTamd

https://www.ccsustudy.com



86. Arrange the words given below In a  gg. = ey e o B arefqol B9 4 ey

meaningful sequence Hsel

1. Consultation 1. wrae
2. Ilness | 2, dmdt
3. Doctor | 3, e

4, .Treatrnent 4, JEOR

3. Recovery 5; ﬁ'ﬁaﬂ

——(A} 2,3,1,4,5 (A) 2,3,1, 45

(B) 2,3,4,1,5 (8) 2,3,4 1,5

(C) 4,3,1,2,5 (C) 4,3,1,2,5
(D) 5,1,4,3,2 (D) 5,1,4,3,2

87. The mean of four numbers a,b,c,d is 87. IR Wl a,b,c,d & WEg 100 2| ol

100. If C=70, then the mean of the ' ' .
_ C=70 &, a1 99 &0 $T Ay &2

remaining number is

(A) 30
(A) 30
(B) 70
(8) 70
© % (C) 90
(D110 (D) 110
180991512023 1401
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g8. If "x" is calleg "
/" is called "x"
=" s calleg "y
. "+"is called "=
40/20-5@10+5=>
(A) 170
_{BY 165
(C) 150

(D) 175

89. Three persons A, B and C gave these

statements:

A

88,

sa-id,' either Freedom Party or

Green Party won the elections.

B said, Freedom Party won

C said, neither Freedom Party nor

Green Party won the elections

Of these persons, only one person is

wrong. Who won the elections?

Ay Freedom Party
(B) Green Party
(C) Data Inadequate

(D) None of these
13099\3\2023

[41]

89.

TR x" P "+" D& T 8,

"/ %" T T E,

"~ Y /" R S R,

"+" P "-" el I &,
40/20-5@10+5="

(A) 170

(B) 165

(C) 150

(D) 175

a afeat A, B 3k ¢ 3 F=falea &=
fee:

A 3 &, a1 ar HisW Uil ar A 9t 3

YA St

B o, Wi widl Y goa e

C #ﬁr,qa‘ruﬁ‘lawtrﬁaﬂ?ﬂ?r!ﬂq
Tl g St

1 sl ¥ % et o aafis o &

T B S

(A) wisH el

(B) ¥ e

(C) 31 3w

(D) & & 3 =

https://www.ccsustudy.com



snuR' O W HE&AT 90
90. On the basls of following comprehen-  gp. Prefifed wuA & ¥

sion answer the question number 90 o1 7 & TR &

to S1.

) A %WA:B:CfoEmFWMﬁmﬁg
Six students- A,B,C,D,E and F are sit-

ting in a row facing the northern direc- s o s A A & EFAC R
tion. € and C are sitting at the extreme

23D, crdmat ARSI A ETF

ends. D is sitting at the immediate

& g do1 21
right of C. A is sitting between E and F
Who is sitting at the immediate right D % &% It 3k 3 do1 €
of D? (A) F
(A) F
(B) A
(B) A
(C) C
(C) C (C)
-8 (D) B

91. Who is sitting at the extreme right end ~ 91. 4ftp & @ BR W @i da71 &

of the r.ow? (A) E
(B) A
(B) A .
© F - @F
(D) D | (D) D
180991512023 [42]
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92. Five friends Bhumika, Rash|, Shweta, g5 ﬂﬁm"lﬁ?ﬂ ¥, e, fav, 3R srfomr,

vibha and Arunima are sitting In row 7 Rem & IR T @< ve 9 F 4 )

facing east. Bhumika Is sitting between

<, s & dfe & gt E W &, i

Vibha and Shwetg and Rashi is second

fasn sk o & @w §8 &
to the left of Shweta.
Who is Sitting at the south end? et B T i do 22
(A) Arunima (A) Fraforr
(B) Rashi {é] s
C) Shwet :
(€) Shweta (C) w@am
(D) Vibha
| (D) fawr |
93, Pick outthe_odd one from thefollowing: 93. F=fafRgg &3 I WY @:Ef
Options: R fidea: R
S S
Q o)
Q Q
(A) R (A) R
(8) S (B) S
| _.(9’0 (©) 0
D Q (D) Q
180991512023 | [43]
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94. Pick outthe odd one from the following: 94, Prsftrfa L& LEL al iﬁ:

Options: FC foaa:  FC
IE IE
NH ' - NH
PH PH
(A) FC (A) FC
(8) IE (8) JE
H
\"'LCPN {C) NH
(D) PH
(D} PH

95. Inthefollowing figure, circlerepresents 95, FmfuRad gl #, §@ TR @ e &,

bed sheet, triangle represents pillow

finget e @ gt & ofR o et 1 e

and square represents blanket. Which L
2| er) 1 - g A Al o g &

set of letters represents all the three

I ts?
elements A ClB
DI|E
F
A CiB
DI|E
F
(A) D
AR D
(8) C o e
©8 © 8
(D) G (D) G
18099\S12023 [44]
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96. Three positions of 5 cube are shown

96. o o ot A R A frer 7 &1 4

below. What will come Opposite to face ek geres ¥ frier o e

contalning '4'?

o (A) 1
(8) 2 ®) 2
(©) 4 (€ 4
(D) 5 (D) 5

97. In the given figure, how many people

97, fiu e e &, fara dm dadt 2-fawal @

can study only 2-subjects? IO IR qDA &0

@~ ~@-

s/

Chemistry Chemistn’
W 11 {A) 1
ﬁ 53 (B) 23_
(C) 12 (© 12
D) 40 (D) 40

98. How many rectangles are there in the  gg. ﬁ’l! e IR F fHem s #p
given diagram?

) W >
v T g (A) 4
(A) 4
- , . (B 7
© 9 (C) 9
MB (D) 18
099\S\2023
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‘ J ﬁ_;a-j‘- %1:13{ ¢
99, How many triangles are there In this 9. aniﬂT@%ﬁ d

given figure.

(A) 8

(B)--9

-

(C) 10

(Dy~12

(A) 8

(B) 9

(C) 10

(D) 12

100. How many triangles are there in the 100, T angft # o= Byt 22

given figure?

I

(A) 8

(B) 10

(C) 12

[

(D) 14

180991512023

(B) 10

(C) 12
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